D1vISION WITH A REMAINDER IT (H - SET 1)
DIVISION WITH -10 TO 10

Name:

Time:

Score:

sy —52160 + 9 =

512) —52886 + (—7) =
513 77605 + 9 =

1) —18759 + (—2) =
515 30065 =7 =

216) 14885 + (—=7) =
5 —3644 + 9 =

a8 —36781 + (—8) =
5190 6176 + 8 =

5200 34480 = 7 =

20 85376 +9 =

22) 16521 + (=5) =
523 16904 =+ 2 =

20 14797 + (—=2) =

) —19815 + 5 =

Mathematics: Division - Level 8 - Horizontal - Set 1
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19

—2440 = (—10) =
—32809 = 6 =
30846 = 6 =
—76549 = 8 =
—84510 = (—10) =
—18553 = (—6) =
19934 + 2 =

11431 + (=2) =
36726 = 10 =
—41911 = (—10) =
15985 + (—5) =
5412+ 1 =

3597 + 2 =

67912 = (—10) =

—1051 + 1=
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